
sin α Mjerena duljina

α sin β b‧cos γ a

β sin γ c‧cos β b = m * sin β

γ c = m * sin γ

a  = b ‧ cos  γ +

 c ‧ cos β

AS ° ' '' ° ' '' ASlaviček

102 32 15 102 32 15 0,97615 1040,45

12 4 40 12 04 40 0,20924 223,02

65 23 05 65 23 05 0,90913 969,01

180 00 0 180 00 00

fβ = 0 92,89350 Kontrola:

vβ = 0 1065,87 947,556501 1040,45

49 06 10 49 06 00 0,75585 185,08

63 59 55 63 59 45 0,89876 220,07

66 54 25 66 54 15 0,91985 225,24

180 00 30 180 00 00

fβ = -30 86,32806 Kontrola:

vβ = -10 244,86 98,751935 185,08

44 36 16 44 36 22 0,70223 454,83

55 49 30 55 49 36 0,82734 535,87

79 33 56 79 34 02 0,98347 636,99

179 59 42 180 00 00

fβ = 18 97,03541 Kontrola:

vβ = 6 647,69 357,794586 454,83

88 59 02 88 58 57 0,99984 524,44

48 15 31 48 15 26 0,74614 391,37

42 45 43 42 45 38 0,67893 356,12

180 00 16 180 00 00

fβ = -16 287,34145 Kontrola:

vβ = -5 524,52 237,098550 524,44

43 56 26 43 56 8 0,69385 432,23

70 32 58 70 32 40 0,94290 587,38

65 31 30 65 31 12 0,91011 566,95

180 00 54 180 00 00

fβ = -54 243,39402 Kontrola:

vβ = -18 622,95 188,835985 432,23

ASlaviček

Mjereni kutovi

Računanje trokuta po sinusovom poučku
Trigonometrijski obrazac br. 13.

Izjednačeni kutovi

Sinusov poučak

fβ = 180°- (α'+β'+γ')

vβ = fβ / 3
TROKUT
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